1. X3P (my3nixa) — 990910

11 nonosuua ausi: -
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1. X3P (JI) - L, III - 9*0-91°0
X3P (K)-IL 1V
Il mosnoBuua ans:
2. ®P - 16"-16'

1. TP (npupona) - I, 11
PP (UXJI) - 1, IV — 09%-
0910

I1 nonosuua aun:
2. ®P - 16%-16"
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1.PP - 9%_910 BB 10 |20
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I nonoBuna aus:
2. X9P (my3nixa) 15%-16°

11 nonoBuKRa Aus:
2.X3P (P)-15%-16"

2. X9P (my3bika) — 93095

X9P (P) 11, IV

2. P (c3) — 930-9%

2. ®P (na nporysxke)

2.X9P (A) - I, I
X3P (K) — II, IV— 10%- 10®

PP (UXJD) - IL, IV
2. ®P (c3)— 93095

1. IIP (matemartuka) — 9%-92° | 1. TIP (npupona) — I, ITI 1. X3P (A) - I, T - 09%-09%° | 1. PP —9%.920 1. X3P (mysbika) —9%- | 20 | 40 10
[9%0_gg20 X3P (K) - 11, IV 2.®P (c3)- 99-9% 920 s MHH | MHH
2. X3P (JI)-I,I11-93-920 PP (4XJ1) - IL, IV 3. ®P (ua nporyake) 60
X3P (P)-11, 1V 2. X9P (my3sixa) - 930950 MHH
Il nosioBuHA aHs:
3. ©P (c3)- 15%-15%
1. DP (c3)— 9%-9% 1. PP-9%.09% 30 |9 1
2. IIP (npupopa) — 09%°-101° 1. [IP (maTtemaTuka) 9°°-9% | 1, PP -9%._930 1L TP (maTemaTuka) -9°°-9% | 2. XIP (mysbika) 94- M | Mun | 15
2.X3P (JI) 9910 2X9P (P) 94-10'0 101 150
3. TIOT - T, II — 10%°-10%° 1T nonosuua ans: 3. IIP(upuposa) 10%- e
PP (UXJD) - 11, IV 2. ®P (ua nporynxe) 10%°
3. X9P (myssika)- 155-16*° | II nonosuna ausi:
3. ®P (c3) -15%%-15% Il nooBuAa gun:
2. XOP(A)-I I
X3P (K) - 11, IV
155°-16%°
1. PP-9%0_920 1. X3P (JI) - L, III — 9%0-9%0 LXIP (my3bika) - 90920 1. IP (maremarTuka) 9°°-9% | LIP (npupoaa) - I, II[ — | 20 40 12
9“_9” MHH MHH




X9P (P)-1I1, IV

3. OP (c3)- 15%-15%

2. ®P (ua nporyxe)

1. PasButue pequ - 9%0.925 1.Ipupoaa — 9%0-09%5 1. IP(maremaTuka) 9°9.925 1. Paseurtue peun— 09°°-09*% | 1. [1OI" -1, I1I- 25 50 13
2. X3P () - I, I — 10%-10 | 2. X9P (A)- I, III 2. ®P (na nporyaxe) PP (UXJD) = IL IV 9% | mun | mun-
2. X9P (my3nika) 10%5-10%° X9P (P)-II1, IV XIP (K) -09%0-10% 092 75
IL IV Il nonoBuHa aus: 2. XOP (my3bika) 9°°- MHH
3. Mpupopa-15-15% 10%
II nonoBHHA aun:
3.®P (c3) — 16%-16°
II nonoBHHA aHs:
=i 3. ®P (c3) -15%-15°
1. X3P (JI, P) II, V- 9%0_920 1. TIP (matemaTuia) — 99~ 1. TP (npupoaa) — 9%°-92% 1. PP — 09%-0925 1. X3P (my3nika) 9092 | 25 | 50- 15
2. PP - 94.10% 2. X3P (mysnika) - 103-11% 2. ®P (c3)— 10%-10%° 2. [IP (npuposa) 9*°-10° | mun | mun-
3.®P(na nporyake) F;. or- I, 111 — 9%5-10% 75
PP (MXJI) - 1L, 1V MHH
3. ®P (c3) - 10'°-10* II nonoBuHa aAHs:
3.X9P (A) - I, HI - 15%-15%
X3P (K) - 11, IV
1. PP —9%.915 1. DP (c3) - 9%0915 1 X3P (mysbika) — 990915 1. IIP (marTemaTuxa) 9°-9'S | LIIP (npupoaa)- I, [11— | 15 30 10
2. X3P (A)- 1, [I[ - 9%5.9% | goo_gis MuH | MuH
1 nosoBHHA AHR 2. X3P (JI) - L, Il - 93945 2. ®P (Ha nporyake) X9P (K) - 1L, IV PP (YXJI) - I1, IV
2. X9P (my3sixa) 15%-16% X3P (P)-1L IV 2. ©P (c3) — 92594
| 1. PP -9%.920 1. IIP (maremarunka) 99-93 | 1. [I3Y.JI - 930920 1. II3YJI — 990920 1L.IIP (npupona) - I, II— | 15 | 30 12
| 2. XOP (myssika) - 920-940 2.X9P (1) - L I - 9%-9% | 2, XIP (my3wixa) - 10°-10% | 2. X3P (A)- I, I —9%.10% | goo_geo wun | wun
XOP (P) - 11, IV X3P (K) - II, IV PP (UXJI) - II, IV
| TI3VYJI - 15%-15% 2. ®P (c3) - 16%-16*°
| @P (c3) — 990920 3.®P (na nporyake)
1. [P (maTematuka) —9°0-92° | 1, X3P (my3bika)- 990-920 1. X9P (A) - I, [11 - 09%-092° | 1, PP — 930950 20 |40 10
X3P (K) - 1L, IV 2.®P (c3)—9%-920 1. TIP (npupoaa)—1, III | mun | mun-
| 2. X3P (JI)-1,IT1-9%0-920 11 nooBuHa AHS: B9%.gg20 60
2. X3P (my3bika) = 9%0-95 PP (UXJD) - 11, IV MHH




